
SAP ABAP table TTEV_TAXCODE_3 {Generated Table for View}

TTEV_TAXCODE_3

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXCODE [CHAR (4)]

TAXEVENT [NUMC (3)]

TAXTYP [CHAR (4)]

RATE_ID [CHAR (4)]

VALID_TO [DATS (8)]

ACCKEY [CHAR (3)]

RATE_ID_NDD [CHAR (4)]

POSTINGIND [NUMC (2)]

ACCKEY_NDD [CHAR (3)]

TTE2C_TAXEVENT

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXEVENT [NUMC (3)]

 TTEV_TAXCODE_3-TAXEVENT = TTE2C_TAXEVENT-TAXEVENT 
0..N

1

TTEC_ACCKEY

CLIENT [CLNT (3)]

ACCKEY [CHAR (3)]

 TTEV_TAXCODE_3-ACCKEY = TTEC_ACCKEY-ACCKEY 
0..N

1
 TTEV_TAXCODE_3-ACCKEY_NDD = TTEC_ACCKEY-ACCKEY 0..N

1

TTEC_COUNTRIES

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]
 TTEV_TAXCODE_3-COUNTRYISO = TTEC_COUNTRIES-COUNTRYISO 

0..N

1 TTEC_POSTIND

POSTINGIND [NUMC (2)]

 TTEV_TAXCODE_3-POSTINGIND = TTEC_POSTIND-POSTINGIND 
0..N1

TTEC_RATE_ID

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXTYP [CHAR (4)]

RATE_ID [CHAR (4)]

 TTEV_TAXCODE_3-RATE_ID = TTEC_RATE_ID-RATE_ID 

0..N

1

 TTEV_TAXCODE_3-RATE_ID_NDD = TTEC_RATE_ID-RATE_ID 

0..N

1

TTEC_TAXCODE

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXCODE [CHAR (4)]

 TTEV_TAXCODE_3-TAXCODE = TTEC_TAXCODE-TAXCODE 

0..N

1

TTEC_TAXTYP

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXTYP [CHAR (4)]

 TTEV_TAXCODE_3-TAXTYP = TTEC_TAXTYP-TAXTYP 

0..N

1


